
SMART SHOPPER #420000 (EXPLODED VIEW) 
NOVEMBER 2009 – PRESENT 

 

 

 

 

 
 

 

 

 

 
 

 



SMART SHOPPER #420000 PARTS LIST – SMART SHOPPER NOVEMBER 2009 – PRESENT 

 

 

Part # Description Qty/unit Part # Description Qty/unit 

1192 Washer, Flat, 9/32 ID 5/8 OD 6 9855 Arm Asm Set Flip-Up Adustable Standard 1 

1477 Screw, Hex Head, 5/16-18 x 1.75 Lg 4 9936 Handle, Upper 1 

2237 Nut, Hex Head, 3/8-24 1 9937.21 Column Asm Non-Tilt Handle 1 

2822 Screw, Hex Head, 1/4-20 x 1.75 Lg 4 9981.10 Wheel Asm, 6" Front 1 

3083 Nut, Hex Serrated Flange, 1/4-20 12 10050 Bearing Set 1 

3622 Nut, Hex Head, Nylon Insert, 1/4-20 5 10100 Charger, 7 Amp 1 

4075 Screw, Flat Head Hex Socket, 1/4-20 x 2.0 Lg 2 10301 Bellows, Cover, Arm Rest 2 

4953 Screw, Hex Head, 1/4-20 x 2.5 Lg 6 10394 Strap Basket Support 3 

5190 Screw, Hex Socket, 1/4-28 x .38 Lg 1 10394.20 Strap Basket Support Asm. 3 

5209 Cap, Black, Wheel 2 10405 Bracket, Power Cord Holder 1 

5865 Screw, Shoulder, #10-24 x 1.25 Lg 2 10408 Wire Asm, Battery Coupler 1 

6227 Nut, Hex Head, Nylon Insert, #10-24 2 10447 Handle Back Plate 1 

6463 Plug, Tube Round 2 10509 Platform, Black 1 

6505 Screw, Hex Head, 3/8-24 x 4.5 Lg 1 10511 Fork Weldment, Front 1 

6618 Bumper, Basket, Vertical (6816 & 10677 Baskets Only) 2 10512.10 Bracket, Std. Basket Support 1 

6618.20 Bumper, Basket Asm. (6816 & 10677 Baskets Only) 2 10512.20 Bracket Asm., Std. Basket Support 1 

6816 Basket, Shopper Std. 1 10513 Mat, Standard 1 

7281 Screw, Hex Socket, 1/4-20 x .88 Lg 2 10516 Boot, Lower Handle 1 

7361.22 Pot Asm., Hall Effect Commercial 1 10526 Label, Amigo Hat Section 1 

7438 Wire Asm, Circuit Breaker to Battery 1 10554 Clip, Wire Guide 1 

7441 Circuit Breaker, Auto Reset, 25 Amp 1 10610 Grommet, 5/8 ID 1 

7541 Wheel Asm, Stability, 1.6" 2 10677 Basket, Shopper Mid Size 1 

7773 Cap, Vinyl Insulated 2 10692 Seat Post Asm, Upper & Lower w/ Arms 1 

7849 Basket Asm, Shopper (Complete) 1 10799.20 Sign, Operation Instructions, English/Spanish 1 

7852.10 Wire Asm, Charger To Controller 1 10800.20 Sign, Safety, English/Spanish 1 

7912.10 Wheel Asm, 9" Rear Urethane 2 10860 Bracket, Trimline Basket Support 1 

7990 Basket, Trimline 1 10860.20 Bracket Asm., Trimline Basket Support 1 

8216 Charger, Standard, 3 Amp 1 10947 Wire Asm Interface, Controller w/ Seat Switch 1 

8270 Screw, Carriage, 1/4-20 x 2.25 Lg 4 10976 Clip, Wire Guide 6 

8300 Strap, Battery Retaining 1 11004.15 Enclosure Asm w/ Rocker Switch 1 

8534 Plug, Tube Square 6 11005.15 Enclosure Asm w/ Keyswitch 1 

8675 Ground Wire Asm 1 11024 AC Receptacle 1 

8722 Tube, Rear Bumper 2 11025 Power Cord, AC Retractable 1 

8944 Band, Controller And Charger Mounting 4 11033 Screw, Hex Head, 5/16-18 x .5 Lg 2 

8969 Cable, MPC Handle Control 1 11042 Motor/Transaxle Drive, 24V 1 

9054PQ Controller CS1108S-1 Standard 1 11087 Brake Asm, w/ Microswitch 1 

9121 Wire Asm., Battery To Controller 1 11152 Rod, Basket Bumper 2 

9133 Seat, Shopper 1 11170 Seat Spacer 2 

9157.10 Switch, Seat 1 11236 Motor Asm w/o Brake 1 

9247 Arm Asm, Right, Removable 1 11302 Seat Post Asm, Upper & Lower 1 

9248 Arm Asm, Left, Removable 1 11312 Washer, Lock, 5/16 ID 19/32 OD 4 

9280 Screw, Carriage, 1/4-20 x 1.5 Lg 3 210203 Arm Pad Single Molded 2 

9610 Cover Asm, Cinnamon Red 1 210204 Arm Pad Pair Molded 1 

9616 Cover Asm, Sterling Silver 1 269002 Battery, 12 Volt, 33 AH (U-1) 2 

 

June 2010 

 




	0115000 - 0118000
	Smart Shopper Wiring Diagram September 2007 - Present
	Smart Shopper Lithium Battery Wiring Diagram May 2011 - Present

